Unit 10, Week |, Lesson |

s : i Example
_ | = Estimate the answer to each
Multiplying decimals by a 2-digit number B sy using | 264% 3843 x40 2120
using the qud method the grid method. Then compare x 2 06 004
: your answer with your estimate. 30| 60 18 | 12 79-20
e Multiply a decimal by a 2-digit number using the grid method 8| 16 4-8 032 | +21-12

e Estimate and check the answer to a calculation 100-32
—

Challenge
1 For each machine, work out the output number for each input number.
= a2 d 386x45| (e 826x25
01 0-08 c 545 x 84 .
0-07 | 0-07
4 0-4
0-9 0-02
i i 8:2 _ i 328 x 28 j983x47 | [k 2:67 x 89
007 { _
0-5
0-06
i _
' m 4-89 x 16 " 6"
2 Find the total of the output numbers for each machine above. : el 2 p 818 x 81

3 Place the machines in order, smallest output total to largest output total.

4 Find the difference between the machine with the smallest and the Use each of the five digit cards once in each calculation in that box
machine with the largest total output. - Make a calculation that gives the answer shown.
5 Each of the machines above has been given an additional multiplication .
function to complete. Multiply each output answer from the sets above E 3 E E B a i@
by the number shown below to find the new answers. '
* Seta-multiply by 60 * Setb - multiply by 10 - N d - 9 ~ 93.60
e Set ¢ — multiply by 50 ~*  Setd-multiply by 40 b y - : _ 288.96
e Sete - multiply by 70 e Setf- multiply by 20
f . b = 3612 (5
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